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full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions: 1x10=10
oo S STy OE fi g

(@) Which of the following countries is not
a founder member of SAARC ?

OeT® el 9 (@ 0t SAARC < Do
T = 2

(i) Sri Lanka (8
(i) Pakistan (1)



®)

(¢)

(d)

(iii) Afghanistan (SI=IIFE)

(iv) India (S9)

’.l“he World Bank started operation
in—

4 R0 o570 Sl T4 (00! b SR
8 FE?

(i) June, 1944 (T, 5588)

(i) May, 1946 (¥, S558Y)

(iii) June, 1946 (G, >58Y)

(iv) None of the above (8759 <ol F2¥)
The UNCTAD was established in —

UNCTAD & 5w oDl (2fze?
(i) 1967 (>5va HIO)
(i) 1965 (S»ve HTO)
(iii) 1964 (>>u8 HI9)
(iv) 1976 (S»pav 57©)

Which of the following is a feature of
international business ?

e

(i) Use of common currency

GG T A2
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(e)

(i) Involvement of at least two countries
GG PCAG 73l (¢ Giow (I

(iii) Integration of economies
SIS FAT

(iv) All of the above
G2 SABIZCRR0!

“Socio-economic background of the
people influences international
business.” The statement is —

e I el eAEE TS
oo T @3 R —

(i) True (¥%)

(i) False (T%%) :

«Balance of payments includes only

visible items of exports and import.”

This statement is —

fifey T7R MR S FefE T
AR AR o7 @R TSt —

(i) True (¥%)
(ii) False (S1¥m)
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(g)

()

()

0)

“Ricardian theory assumes that labour
is the only factor of production.”

This statement is —

“THIfCT og9 4R &N 5 CeAas
G T |7 G2 S ST —

() True (¥=)
(i) False (S1em)
“Export duty is a tariff tool of

international trade.”

This statement is —

N v SeEgE e 9)Y ST gl |
3 Sl&o—

(i) True (¥%)

(i) False (o1em)

Write the full form of OPEC.

OPEC- i Fito! foral|

In which year product life cycle tﬁeory

was developed ?

SR B SGUH! (i b SR I (e 2
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Answer the following questions in about S0
words : - 2x5=10

OeTe TEHRS SRPTRE TEd o Bl Wi *¥{ foese
GRS

(@) What are the two types of international
business environment ?

wieAEE R ARER 70 2E [ [e
(b) State two objectives of WTO.
WTO= 70 Sy 514l |

(c/) What do you mean by regional
business ?

wefers Aifey e € e e

(d) What are the main purposes of special
economic ZOnes ?

Fog ST SIeE 2L SR /e

(e) Give the meaning of ‘tariff’ in
international business.

m@@ﬁaﬁ%ﬂ%ﬁ—— o Wwﬁﬁiw

Answer any Jfour questions from the .
following in about 150 words : S5x4=20

oot GRS el SifEb 2 Ted S&ob Mg
Segw foril ¢

(@) What are the merits of internationa]
business for developing countries ?
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(b)

(c)

(@)

(€

- SIS OPPTES S SSRGS

AR & 2

Explain the basic differences between

international business and domestic

business.

SISEAER JMley S Te=t AT Ters 2
T AR B

What is non-tariff barriers to trade
(NTB) ? Explain in brief.

SIGAIEN AfdeE wmi<eg dfo@e iﬁm &
el ? BACE [T w4 |

Distinguish between balance of trade

and balance of payments.

ey PRy S <{Freiia B e ALy
foTall |

Discuss the functions of UNCTAD.
UNCTAD-S zmﬁia?ﬁ el |
Write a short note on NAFTA.
NAFTAS ez «fs 59 (Biet o1l
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4. Answer any four questions from the
following in about 600 words:  10x4=40

OETS GRS 2EF R bIfH6I9 ©es ¥oo B %S
foege o7l ¢

(a) Discuss the various modes of entry into
international business.

SR e Sevies [feq s@hme
A 1 |

(b) Critically discuss the product life cycle
theory of international trade.

SIGAIEE AT ATTI b SGCo!
FTAICEABAPTR. STl <5 |

(c) Discuss the main objectives and
functions of IMF. 5+5=10

wieeigE @ FiE [fen Sorn S SRiRe;
FHHACE SACETDA 1|

(d) What is foreign investment? Discusg
its various types in Indian perspective,
2+8=10

e RGN I+ & gei? SRS eikers
ot R [fen exprerR S 5y
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(¢) Explain the role of IT (Information
Technology) in international business.

SSFIGIY e (e v eRfeRmR gl
=T 0

(44] Discuss the role of FDI in promoting
international business in India.

SIS SO NG ST (Fqe (@
ehor RNt (FDI) I O S 1 |

(g) What are the objectives of World Bank ?
-How has it assisted the developing

countries ?

P @9 ST [ 2 [ @0 @R
G TG LD FIT A A9 2

~ (h) Discuss the major types of international
business structure. How can the

barriers to international business be.
overcome ? Explain. 6+4=10

SITAE e G4 PR Sl 5 |
w@wmwmﬁﬁmﬁﬁa
“Nf< 2 = 41 '
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